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2 |YPA214E11H4H | 10:40(0F 15.3| 20.4| 7.0 (v R KB R L 74! 136 95 - - MECS ¥ 200| 205
3 |‘Ep214E114H | 11:00|H5 16.2| 201 7.1 -|lTov NIk IRE 5L 7oL 78| 138 97 - - -|hk A 22.0] 21.0
N 1 [FRk214E117 41 | 14:000% 15.1] 201] 50 v bk ke fray el 73] 126 93 - - -| Rk £ 13.0] 20.3
2 |MPR21FR11H4H | 14:20(0F 18.7| 20.2| 5.0 S[v R KB B L 721 133 95 - - |EE 13.0] 203
3 |‘ER214E1104H | 14:53| 18.1] 205/ 5.0 -[lTov NIk IR M5 7oL 72| 129 97 - - -k A 14.0| 20.9
IR 1 |'FRrk214E10H 200 | 12:12|0f 19.2| 22.4| 6.0 BN PR i b K TR |72 L 68 8.3 - -| 153 -k 251 22.1
2 |"FEk214:10 H 20 H | 12:23|1 19.2| 22.4| 6.0 BHEEN IR A it k& |72 L 63 7.9 - -| 151 -kt 26.0] 22.1
3 |"FEk214:10 H 20 H | 12:35|H 19.2| 224| 6.0 RIS PR itk FEE |72 L 68| 9.0 - -| 151 -| IR e 265 22.1
S 1 [Frk214E107 150 | 11:01 (/% 215 22.1] 3.0 BFEIN PR T B el 44] 6.3 - -| 152 -|KAB 85 21.4
2 |FR214£10 15 H | 11:10(H5 215| 221 3.0 RHEEIN JRE T 5L 2L 44| 56 - - 119 - K 8.0| 21.4
3 |FA214£10 15 H | 11:20H5 215 221 3.0 [k PR PR 7oL 45 6.2 - -| 150 NG 74| 214
ERL 1 |'Frk214£10H 16 H | 10:30|i# 220 228 7.0 BFEEN PR e 5L B 32 6.9 - -| 570 -k 27.7| 22.7
2 |"FE%214:10 H 16 H | 11:05| 220 228 7.0 BHEEN JR1E e 5L B 31 81 - -| 543 - IRt 28.0| 22.7
3 |"FEk214:10 H 16 H | 11:30| 220 228 7.0 -|[ ek IR 5 Hih 31 74 - -| 539 -|IR e 29.2| 22.7
TR |51 O 1 |'FRk214E10H1H | 9:30|% 238 25.2| 25 5 MR UV e | BIK 5L AR 31 25 - - - -|FRAS 6.3] 25.3
T >50):1k
(it 2 |PE21410H1H | 10:25|= 245 252 23| >50[Hbk IR 5L AR 26| 0.7 - - - -| A 46| 25.0
3 |"ER214E10H1H | 10:55)= 245 26.0 21 . TR U | RIK 5L AR 49| 34 - - - -|FRA 55| 25.0
>50| ) ~
)R (B 1 |'FRk214510H 20 H | 10:00|%: 19.6] 2200 26 BFEEN e fiefbok 37 AR Bk, 48 8.9 - - - - Rk 30| 223
*‘[ﬁgrf/) (%%
A5
2 |FE21410H20H | 9:41|= 19.0| 22.3] 29 BHEE/N v i bk 37 AR Bk 27| 3.6 - - - - ke 45 225
N
3 |"ER214E10H20H | 9:25|= 205 228 3.1 -[EIR o fifbkHFR [RE, B 62| 15.8 - - - - IR Rk 5.0/ 23.0
TR DRk 1 [‘Fr%214£10/ 28 H | 10:25(H% 21.5 | 45 BFEIN pR3E 5L 7L 22 - - - - -|hktE o 5.6] 23.7
2 |FRk214£10 28 H | 11:15|H5 21.5 -| 45 RPN PRkt 5L 2L 45 - - - - -| ke e 42| 237
3 |FRi214£10] 28 H | 11:45|H5 21.5 -| 45 REEIN PRREN 5 72 L 57 - - - - -|hktE A 6.6| 23.7
EEE (s HIRT Al 1 [ERk14E9H 28 H |12:45|% /Nl | 27 27| 26.4 BFEIN ) HTENE (YR 49] 126 - - | 0.4]dEe 2.1] 28.0
U+ | 2 |'PRRUAE9A29H | 14:30|1%2, /bR | 26 27| 26.4 BIT2IN ) e 5L T4 - - - - - -|- 05| 25.0
3 |FEk2149A30H |13:45|=. /i | 28 27| 26.4 REEIN ) HTENE MR 49| 6.3 - - A1) 73| 275
AT T 1 |'FRk214£10H 21 H | 10:30(iE 18.7| 20.8] 45 BN ) 5L 7oL 47| 11.0 - - - -| e fh, 7.4 -
2 |MFEk214:10 H 21 H | 10:15|H 18.7| 20.7| 4.0 BHEEN =) 5L 7oL 32| 55 - - - - | fh, 11.1 -
3 |"FEk214:10 H 21 H | 10:00|H 18.7| 20.7| 4.0 RS et M5 7oL 58| 13.0 - - - -| M fh, 9.7 -
fEhd (s 1 [Ek214E11H 190 | 9:35|%& 139 155/ 1.8 AN =t e 5L Hik 39 87 - - - - |k 6.7 -
-V MR
2 |ER214E11H19H | 9:53|= 14.2| 150/ 1.9 R T Y v (R R 5L L 41| 89 - - - - |k 7.0 -
-V MR
3 |"FR214£11H19H | 10:16|= 14.8| 153 1.9 SlTov R R 5L 7oL 42| 9.2 - - - -|RE R 74 -
VAR |50 B 1 [Frk214E11A16 0| 9:48|2 105 13.0] 2.0 >30[JEtk PR IR Hik 58| 20.3 - - - N Ty 15.3] 18.0
2 |"FEk214:11H 16 H | 10:46|= 10.0 13.8] 25| >30[Ieik IR A e R Hi 58| 18.5 - - - - | fh, 15.0| 18.0
3 |FEk21411H 16 H | 11:16|= 95| 14.0] 35| >30[JEIk IR [V Hik 55| 14.5 - - - -| M fh, 14.0| 18.0
RIGFH (RS 1 [FRk214E117 240 | 10:20]2 13.7] 165] 4.8 AN e Ak 38 5| Hik 59| 17.1 - - - -| H ikt 19.6] 15.8
2 |PEk214:11H 24 H | 11:05|= 13.8| 165 48 2NN S 1) i bk o 5 | Hak 60| 16.1 - - - -| H ke 19.2| 15.6
3 |ER214E11] 24 | 11:40| % 135 165 4.8 [T MR R iAok S8 5| Hik 58| 15.8 - - - -| H bkt 19.8| 15.9

40




R 214 JE T = 7 A REHR BUE JEE
o ik e | o [FIE AR A0 [T | Ve | BERRR) e o [ R
ade | mR Fel smeEA R | ke | T immmssg  sMe i LSS seaern (AR i | [T T R ) R O | VR | IR
Bz ) [(C)| (m) | (cm) %) | (%) | (%) d (mg/g)| (mg/g) (m) | (C)
KW | RK)IRRT R 1 |FRpk214E11H27H | 9:56(iF | 15.8] >1.6] >100[#k JK A JE5 High B 29| 3.0 12| 0.0] 87.6] 12.4] 1.6] 0.3[EskE 1.6| 18

(K4rh) e A
2 |MFEk214:11H 27 H | 10:52| -| 17.8| >1.6| >100|#>iE U v 8 [RIK e E%&gm 27| 15 1| 0.0| 99.2| 08| 1.6/ <0.1|sktEE 1.6| 18
BN N
3 |"PEEk214:11H 27 H | 11:50| -| 16.8| >2.1| >100 iﬁ\fﬁu e JER ,\%&;\,\ 26| 29 9| o0.0| 912 88| 21| o0.2/kEE 2.1| 18
R 3IN ik
B | RKUE) IR R 1 [FRk214E11A6H | 12:490% 24.0] 20.0] >05 - | bR et 5L 2L 17 1.0 72 - - - - - 0.5] 20.0
(E ) 2 |ER214E116H | 13:11|H 24.0| 20.0| >0.4 - | WD BEIR Are 5L 7L 19| 1.0 80 - - - - - 0.4| 20.0
3 |ER214E116H | 13:25|H 24.0| 20.0| >0.5 - | WO BLIR et 5 2L 17 11 53 - - - - - 0.5 20.0
BEVR R IR (R 1 [PFErk214E10H 20 H | 13:30(1E 20.4] 19.4] >0.4 -| bR PR 5L A 24 1.0 2| 479 505] 1.6 - - 0.1] 19.1
) 2 |"FEk214:10 H 20 H | 11:00| 19.7| 19.7| >0.3 - [RDRELR IR A 5L INF 24 0.9 1| 42.1| 57.2| 0.7 - - | fh, 0.1 17.6
3 |"FEk214:10 H 20 H | 10:15|H 21.5| 19.3] >0.3 - | RDBEELR PR 5 INF 20 1.0 <1| 67.7] 322 0.1 - -| M fh, 0.1 19.1
ARE)TR| 1 [FAak214510 A 29 A | 10:10( 23.3] 18.6] >0.3 - [ RORELR PR e 5L N 22 23 1| 76.1] 22.6] 1.3 - -| e fh, 0.1] 205
HfE (WHE| 2 |FEAR21410 A 29H | 11:05|H 26.0| 21.0 >05 - | RDRER PRGIEN 5L INF 22| 1.8 4| 66.7| 295 3.8 - - | fh, 0.1 23.0
BT TT) 3 |FA214E10 29 H | 13:15]H5 25.2| 19.6| >0.5 - | WO BLIR PREEN jis e 21 2.0 1| 75.4| 233| 1.3 - - 01| 211
PRI IR v 1 [FR%214F107 140 | 14:002 26.8] 26.6] 1.2 AI~Refk [IRE 5L 2L 36| 10.0 9 - - - - - 9.2 -
2 |"FEk214:10H 14 H | 15:05|= 255 26.4| 1.4 ISRk R i 55 2. E=—/ 40| 15.0 87 - - - - - | fh, 5.0 -
3 |"FEk214:10H 14 H | 14:30| = 259 25.8| 48 I~Fefk K& s INF 38| 14.0 81 - - - - -|fEfh, 6.6 -
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